ST 495y i = X 15
XATF 4 < A B S
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| JHET £ P DU —fti 4.3 6.5 —| —| —| -
LIS D Ktk
1 E#E477E5RB 30 | LL|h o83 13 2.8 2.8 | —
2 FELS o 30 | L1|P e 1 1% 2.8 2.8  —|  —
A ERAT [izk R laEe: T — | BEAR | PbME bk¥E v e | —
AT AR K ek
1 AP —i 5098 | | | —
2 ERRESAOXIER
(1) EiE 9 BHR» 30 | LOR 15F 224 14 14 | —
(2) _EREASh O HER
A KX, HE, EESE 30 | L1 o1 oamd 12 12 - —
o KEE, fA, $RX 30 | L1|F toffF 15 12k 12 | —
A [ = 1 30 | L1 18 14 14 — -
= #EX 30 | L1|Foo.gf 15 12d 12— -
A LRI Hs 30 | L1|F 9.0F 1302802 —| —
TR BT AL PO — | R | b tl:ﬁF btfﬁ[mttz’% - -
T LT X -1 - —r@ 4.8rﬁi 48 - =
9| PFLET Eeei — | B | Lb¥E MR MR LLTE - -
FEARET AL X — | B | LbME MR MR phTE - -
A LA K ik
1 ERHKIR — 6. 100 —| - —| -
2 RERLSA DX 30 | L1|F ol oew 12k 12— —
F5 BEHT = P XU —t 4. 40 6.8 - - - -
LEREA o Kk
1 EEHE A TR 30 | 11| 9.6 150 3.8 3.8 —| —
2 LERLS o 30 | L1|h 7.0 14% 3.8 3.8 — -
Fa{ B4 ET L Kk — | BRAR| LB LkYE b pLIE - -
AT LR (X I8




ST 495y i = X °H
i CET A4 . AR B A Pl 5
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| 1B 5T HT 1 BRI —t e.epl 13— —| | -
2 LEEADKIEE
(1) EEMERMETRE 30 L1 14ef 22 14 14 - -
(2)  _EREELASh DO HuE 30 | L1|F 1 o208 14 14 — -
RIET b |diE b — | BEAR | rhME Mk¥E hME ke —
T AR X 30 | 1.2 e e e s
KRBT L4k AL P — | BRER| fbHE belE ph#H I - -
AT AR X g
1 A —| 6. 488 100 — — — —
2 ERLBIAA DR
(1) FFIE B IREIE L 30 | L1 1 21 12 12 | —
(2) BRSSO 30 | L1|F 9.5 176 8.6 8.6 —| —
FHRT /i [EEEIE (A% — | Bk | R tl:i’réLj J:ti’ér bt - -
T AR X g
1 RO —l 6660 100 —| - - -
2 LRSI 30 | L1fT 10 HT@ s.srm 8.6 —| -
KRIHET+H A X — | B | SbYE bR fhvE bR - -
AT LR K
1 =R — e o0 100 | —| - —
2 LELA DK
(1) J RIUEEAHREL S o Mtk 30 | L1|h o5 T o4 14 - —
(20 ERELS oI 30 | 11| 9.5F 17F@ 7. Tm O B
RIFHT ] b gk — | BBAR | bk Hh¥E vE bvE - -
AT (LA Xk
1 RAHKIE —t 6.5 100 | —|  —|  —
2 EERPIAA DX
(1) BE3E 9 Zaawn 30 | Lol|P 14 21 14p 14 | —
(2)  FFREE 7R 30 | L1ld 1 19 14 14 | —




ST 495y i = X 3E
XATF 4 < A B S
e R ks @ A o w4 [P PEEERTIBEITOGES
| RFEHT A ] (3)  EFELAS O 30% 1.1FétlJ 9.243 1%3 fiq: 1f2 [
R HHT i b Xk — | BEAR | PhE bh¥E v M | —
AT {L A X
1 A —|i 6. 4 100 — — — —
2 EELIAA DX
(1) FFERE/ ARG 30 | L1k 1k o2 12 o1 | —
(20 kRSO 30 | L1|P o.gh 17 8.6 8.6 —| —
Dy ks HHT ML — | BEER | bhBE k¥ k¥R bh¥E —
T LA X ek
1 g ey o104 | | | —
2 ERLPA DX
(1) & mEH 30 1.2 | LLYEJE bEYE  ELYE PR - -
(20 ZEHFEBCF RN 30 | Laffo o g ufh o1 - -
(30 EEREist oo 30 | L1|F 10 16 108 10 0 — -
] JE ARET ] J5 7L R b X —|%0 5.7 8.4  — — — —
ERELAS D I
1 FRES . OAERE 30 | L1k 1o 154 8.0 8.0 —|  —
2 LR o 30 | L1 8 14+ 8ob 80 —|  —
T SR ARET b 5 i PR M X ot 5.8 8.4 —|  —|  —| -
LFRRLS O XI5
1 FHESS AREHRIG 30 | L1l 1ff e 8.0b 80— —
2 RERLS O 30 | L1|f 8 yfr 157 8.0d 8.0 —|  —
{ATJELHT sl — | BRR| IhMY HYE LM LhvE — —
&| JBIs AT it — | BRAR | PbME bbYE LbMH pLWE -
Je ey Eein — | BRAR | LM bbWE e peTH | —
eIy £t — | BEAR | PLME k¥ Lbve b | —
BT I — | BRAR| LB LkYE b pLIE - -
Z| AT AT b XIS — | BRER | Lhif| b i bkl | -




SF0 445y i = X 1H
XATF 4 < A B S
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
Z| kT A L R
1 B —#t 4.9 9.0 - - - —
2 LELRIAA DS
(1) IR, FRNEE —F 1 18 g o1 | —
(2)  EEmLASh oMK — 9.0 Bm4ﬂf4ﬂ - -
SHRAT I — | BEHR | bh¥E thf%r [mati e - -
=T i — | BRER | Phif| phiE ped bl | -
L| HRERT Eaeir — | BEAR | bhBE LhiE LhHE phEE - -
TERT RS I L IR — | BEHR | Ph¥E Lk¥E  LRHE LRYE - -
TR b A X
1 B H K 7R 11 | | | —
2 LRSS ORI
(1) JAE 30 | LUF o1 28— -~ —
(2) LRSS OIS 30 | LO|F 9.8F wﬁ e 1 - -
FEHT RS SR AT Eeei — | HeHR | k¥R bovE J:I:EF tb¥E - -
BRI E T [EicRlAEe:
1 AR TR T A 1 SE R b K R L0 1 s 1 = 1) - -
L& ey
2 kREESOXE — | BRER | bh¥E LhiE LhEE LR - -
T LA X ek
1 T g 74 o120 | | | —
2 LRLS KK
(1) HEiE 9 5&Rivwv 30 | L1|F Ll 23 6.3 6.3 | —
(2) kRS OHIR
A4 WL 30 1.2 —[EtHE Y bR - -
o LERLS O M 30 | L1 9 1F %ﬁ6iﬁ62 - -
REARR b Ok — | BE#R | PRME LhVE LY kYR - -
T LA X
1 AR —Jid 7.2 11 - - - -




SF0 445y i = X 5
XATF 4 < A BB RS E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® & # ®
U| #ETHIR 2 BRSO
(1) FiE, /%, BF, FX 30 | Lifhoag 24— - - -
(2)  EFELAS oK
A J RIUEAHRE LD HE 30 | rofd oo 20 1 11 | —
o EFERAA O ik 30 | L1|F o1 208 6.2 6.2 — —
TR ke[
1 T A BT £ 2 [ - b R T 2| R =B fEB fEE — —
SRR
o LELADKE — | et | rede b b b - —
T LA K ik
1 ERHER — 7o 12l - - - -
2 BRI DK
(1) EJEEE, FAEE, s 30 | L1l 14 280 - - - -
(2) LRSS OHI 30 | L1 9.1ff 200 606 6.0 — —
TEET I 155 [k (A% — | Ee#R | i tl:@r ttﬁ[ﬁtﬂ% - -
AL X
1 AR —fh 8. gl 13 - - - -
2 RRES X
(1) EiE 9 BF#Hnn 30 | L1l agh o2 - - - -
(2) ERELAS oI
A tE, B 30 | Li|F o3 o200 - - | —
v _EREEASR oD iU 30 | L1 10 17[@ 6. 1l 6.1 - -
LIRSS S Eoei — | HEHE | k¥R RhYE 1:!:%r Rt - -
TR JA [EEEIE (A% — | B | Pt EkHE bRMH MR | —
A LA Kk
1 RO —h 7o 120 |~ o —
2 kRS OXiR 30 | L1|H 9. 19Fm 8. Tﬁ»ﬁ 6. 1 - -
FEHT R ERS03 — | B | k¥R MR HME fhiE — -
| | TR [k AES: 1 — | Bl | Lb¥E HHE O HME LT — -




ST 495y i = X 6
XATF 4 < A B S
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
L| &R AR T LA Xk
1 B —or.eE 12 |~ —| -
2 EELIS X 30 | L1|P 1o 2080 5. 7E 57 —| —
AEET LA fet P L DI —p T 13 | | | —
ERRLIA O Kk 30 | L1 1o 206k 5.9Fm 5.9 — —
BETA Ao I I — | BEHR | bh¥E thf%r [mati e - -
LSl [eEeiR (s — | R | Pt ke bbd e | —
AT AR X g
1 FEAHRR —f#t 5.9 10 - - - -
2 EREEESR R
(1) BREGES 30 | 1.2 |[FlEHEELLEE bhvE bRHE - -
(2) ERCEAs oI
A EEHIEMG R 30 | LUF o 13F 18F 10 g~ —
o RREEAS O sk 30 | L1[F 10 wrm .08 7.0 - —
By Eeei — | HeHR | k¥R bovE J:I:EF tb¥E - -
| EERERET /UK = F i i 6.5 120~  —|  —| -
RFRRLIA D K S5
1‘\55372%,%%&@%5@“%#4\%%& 30 | L2k B o9 gk 13 - —
e
2 LRELU o 30 | L1|F 8.7 18 6.4 6.4 | —
EEsdilIbNG! 2 Y b I —ffd 6. G 12 — — — —
RS DK g
1 RmitE 30 | 1.2 |EELEE LTS bRV MR | —
2 ERLPAOHIR
(1) HEiE4 2 35HHR 30 | L1|f o1 19 12 12— —
(2)  EFRCLASOHIR 30 L1|% 8.7 18 5.94 5.9 - —
R ERET AR H A B FH X I —et o3 11— |~ -
RIS OO KR 30 | L2|h 8.7 18kl 460 4.6 2 —| —
TR T R fek 1 [ 3 —f 6.6 13 00— | | —




ST 495y i = X 7H
i CET A4 . AR B A Pl 5
S (TR wass @M m oW g [P ACEERTEECEA RS
% = 2 e & # ®
| R R LFELIS D RS
1 [EE3 72 5®Hv 30 | L1 1ok ok 13 - —
2 LELS o 30 | Li|p e Ispie e  —|  —
B AR AL X 40 | 11| g l:I:Z%F tt*ﬁJﬁttZ% - -
A% Xk
1 AR —|Wh 6.5 13 — — — —
2 RSO
(1) FFIEEEVIRE Y 30 | L1[P 1R o19ff 8.2 8y | —
(2)  ERELSoHIE 30 | L1|F 8.7 18 460 4.6 —
BEEET R R X3 —toe g 12 | —|  —| -
LM O KR 30 | Lz|¥F 8.1k uTﬂ 5ol 5.9 — —
EEERUIIEEES [iEREaR A 40 | 11| HovE bRE tt‘fﬁr o I
AT AR X
1 B —d 6.3 12— - —| =
2 LRERIA DK
(1) ek R 30 | L2 |RAHEELE euy pk¥g | —
(2) EiE4 2 35MEUNFEREMN [30 | L1|P o.7F 18F 13 13 - -
AR
(3)  _ERELASI DL 30 | L1h87h 1spie el | —
= EEANERS e A Xk 64 12 | | | —
bR DK
1 FREFEBNMERD 30 | L1 o7k 18 13 13 | —
2 _EFLSh oM 30 | L2|F 8T ITMie e ] | —
BB A S 2 b IR —fit 5.9 11 - - — —
LA D KI5
1 [HiE4 2 3 5Hm 30 | L1 9.7 170 5.9 5.9 —| —
2 LRELUL O R 30 | L2|P 8o 17 5. 98 5.9  —|  —
B T E 5 F i X —l 5. o0 8.1 —| - = -
LRCLAS D X3 30 | 1 1] 7.8 15K 4. THE 4.7 — —




ST 495y i = X 8
XATF 4 < A B S
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
B THRHET TR £ P DU —foti 5o 74— |~ —
LIS D Ktk 30 | LL|H T.oH 130 4. THE 4.7 — —
T kAT ERvb M fr P M X —l 5. T 8.4 | —| | —
EELIA 0 KR 30 | L1|P 81 164 4. T@ 4.7 - -
FA AT 5 [ickcR A% — | BEAR | PbME bk¥E v e | —
AT AR K ek
1 R —dEeopn 100 | | | —
2 EFRLEA DX 30 | L1|H 89k 177 — — — —
TFAJNET N1 Eeei — | BEHR | Ph¥E Lk¥E  LRHE LRYE - -
FAUIBT /N e A% — | BRAR | PME bbYE bW beWE | -
TR AR X g
1 R R —ft 6. 26 10 - - - -
2 FELUAO KR 30 | Li|F89F 17F ufp o1 - —
TARNTET B Y Hb X —t 5.9 10— - - -
LRELLA DR S5
1 J RINEARRLAE O e
(1) [EhE 9 S#HR 30 | L1k 1o 208 13 13— —
(2)  LEELisoHIR 30 | LR sgb 17d up 1] - —
2 LRELstoR 30 | L1|h 8o 17 628 6.2  —|  —
TAJNETHE / I = R Hb R 3 —idi 6. i 10— — — —
RS oD K Se
1 EEMFE AR 30 | L1|f o 1of 19 6. 7WE 6.7 —|  —
2 ERCEA s 30 | L1|% 8.9f 17 6.7F@ 6.7 — -
S RATLLIEEY 522N [k [Are: — | BRAR | PbME bW bk bW | —
T LR Xk
1 R W28 100 — - - -
2 kLUK —{h 89 T o o~ —
FAINET T AT b XIS — | BRER | Lhif| b i bkl | -




ST 495y i = X I
XATF 4 < A B S
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
B FHIET TR T LA Xk
1 B — 6o 100 —| - - —
2 LELRIAA DS
(1) EE9SHMREOTEMGESNT [30 | L1 10F 20 1 11 | —
ARG
(2) BRSSO HR 30 | L1|F 8o 17 6.3 6.3  —|  —
THINETHE Y i X dal —t 5.8 9.1 —| - - -
LRUADORIR 30 | 11| 8. 1en 6.3 63—  —
TRIIETHER EELi — | B | PeHH HEWE R l:l:“!%‘ - -
FINENGFF [EEE e — | B | IhEE MR HhME fhiE - -
A LA Kk
1 BRI — o6 1l 100 - - | -
2 EREEADXIR 30 | 1.1|H 8.9 Nﬂ?ﬁf?ﬁ — —
| FHRET it — | BSHR | LY LLVE LLYE LT - -
72| TR HET [k (A% — | BRMR | Pt bkWE pbvE bR | —
AL X
1 AR —|Wh 5.9 100 — - — —
2 RRES X
(1) FEHGERCFRRRB 30 | L1|d g g 1 o1 | —
(2)  ERELASoHIE 30 | L1|F 10 16 7.08E 7.0 0 — —
P ERRT ks — | BRAR | R tl:ﬁr tt%J e
(7| THERET Esetr — | BEEE | HhME LkEE  LhHE LhE - -
Bo>C 7 07 — | BEHR | Ph¥E PR¥E phME RRYE - -
[zt 1 KHE
{1) T i Xt —t 3.3 660 0 —|  —| | —
{2) LRELSORIR 30 | L[ 4.7 8 40 4.6 4.6 —| —
2 Kk
{1) T i bt —t s T 7.8 - | - —
{2) RS DK 30 | 11|p 53 o040 —| —




ST 495y i = X 108
XATF 4 < A B S
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
\Z| PERBeRT 3 it
(1) B Hi X Ik —ot 3. 36 6.8 —| —| - —
{2) LEELS O 30 | 11| 4.7 8.4 3.8 3.8 — —
4 FH
{1) A Hi X s T O B I I
{2) ERCLISt oKk 30 | L1 4.6/ 8.2 4. 06 4.0  — —
5 JRESF
{1) B2 X bk —fti 3.3 6.5 | | | -
{2) LSRR 30 | L1|F 4.6/ 8.3t 4.08 4.0 | —
6 fH
{1 FRFIH R i 3.4t 6.7 | | | —
2 LRELS ORISR 30 | L3|F 4.8F 8.6t 4. 260 4.2 | —
7R
(1) F2FIH X5 |t 3.4 6.7 —| - - -
{2)  LRCEAS ORI 30 | L1|H 4.8F 8.6 4200 4.2 —|  —
PaET gt — | AR | LhME LhHE kMR phIE - -
V3 IrREERT Eee: — | B | SbYE bR fhvE bR — —
il il iy i R Hb XA —pii 2. T 4.6 — — — —
LRSI 30 | L1|f 41 6680 456 4.5 00— —
JREFE] 1 4H = R Hb R 3 —ffdi 2. THE 4. 8 - - — —
RSO RKIR 30 | L2|h 4 6T 4 M 41— —
KRR T L B £ P L U —fodi 2. T 480 —|  —|  —| -
ERLEAA D X I 30 | L1|F 4.0f 6,40 4. 60 4.5 —| —
O\ #HEFETA 2 L =35k 1w — 6. o 11 — — — —
EERLIA 0 X
1 Boa—xFo 30 | 1.3 |ErcvEE e pevE v - —
2 [EE3T72EHEB 30 | L[ 1l 198 6.3 6.3 | —
3 kR 30 | L1 11f Nﬁ63%63 - -




ST 495y i = X 11E
XATF 4 < A B S
e R ks @ A o w4 [P PEEERTIBEITOGES
N 7 HEFET K H (ikcakAE: —%E%{ %g %g %é %é f f
A L Xk
1 EAH#RER —|t 6. 488 100 — - — —
2 REESh IR
(1) FFEFREV R 30 | L1 1l 18h 7.eeE T8 | —
(2) kst o Hhg 30 | L1|% 8.7 WM78E7B — —
T R P T B SR Fi R XA —fit 6.9 11 — — — —
ERRLISh O KR
1 [EE 37 2 580 30 | L1[d 1l 1o o7ouEe 7.l | —
2 LSO K 30 | L1 1 NL?J%?J - -
1 HH BPHT Al AR R Hb R —ffd 6. 3B 10 — — — —
LRELIA D RS
1 FESI 30 | L2 |ErcuEEERE bevE beHE - —
2 EHE3 7 2EHBHN 30 | L1|hof 1siie 67— —
3 _ERCEAF O 30 | L1|% 8.7 NL6JM6J - -
A EPETIEMR = F i —ffd 6. 4 10 - - - —
RFRRLIA D K S5
1 FESE, V=AY 30 1.2 JHL A be Y bhrE bhE - -
2 EERLA O 30 | L1 oo.off 18k 6.4 6.4 00— —
# HEFHT R = R Hb R 3 —f#di 6. 5 10 - - - —
FERRAA O K 30 | L2|h 8.7 18 8.6 8.6 —|  —
% HEPRTHES £ P L U —ft 6.5 11— |~ —
ERLEAA D X I 30 | L1|H 87 Nﬁ?AF?A - -
TERET it — | BSHR | LY LLVE LLYE LT - -
WODUT R £ — | BSER | bW fbWE YR e | —
TR B BT A B 2 P i X —#l 3. 3l 6. 5 - - — —
EESAORIE 30 | L1 4.7 830 4. 06 4.0 —| —
HRBERTHE R £ X A *%33&65 -1 - - -




ST 495y i = X 128
i CET A4 . AR B A Pl 5
e R ks @ A o w4 [P PEEERTIBEITOGES
N SR BEET AR EFepS o K 30% 1. 1%43 4. i:p 8. {3% 3M 3& [
E Vil sy P X3 — 3.4 6.7 | —| - —
LERLIA o Kt
1 KRE=ma—For 30 | L2 |EcHEEEYE vy bbdE )
2 EECLIA oD 30 | 1.O|H 4.9H 8. THE 3.4 3.4  — —
TR R T R it FH 1L X3 —hl 3.3 6.6 0 —|  —|  —| —
RS DK 30 | L1|P 4.7 8.2 4.6 4.6 —| —
HAIGERT B4 PR P L X3 —l 3. TR 6.4 | | | —
LRSS ORI 30 | 1.O|F 5.2 8.3% 4.0 4.0 |
HBIBERT /MR 2 b I —f#t 3. 5t 6.8 — — — —
ERLEAS D X I 30 | L3|% 4.9 g8 460 4.6 —| —
TRIREHT BRE 5 A M IR —i 3.5 6.9 | | | —
HEEIEANGYES 30 | L1 5.0 8.8 4. 08 .00 —| —
HO e AT i T X Sl —l3.Te o7 - - - -
e NG 30 | L1 5.2 9.0 408 4.0 —| —
HBIBERT 4% = F i —#fi 3. 5iffi 6.8 - — — —
RFRRLIA D K S5
1 dkfEn—x#ow 30 | L1 [ELAEEEYE rE bbdy - —
2 LRELstoR 30 | L1|f 4.9 8.8 408 4.0 —  —
HAHEHT AR AR 2 P [ —l 3.4 5.9 0 —-| - - -
ERRLAA DK 30 | L1|F 5.0 8.0 5.0 5.0 —| —
SRAHEHT AP £ P L U —ft 3. 4 58— —|  — -
LFELIA D K t5 30 | L1|4 5. 8.4 3.7HE 3.7 — -
FAHERT h P P L X fgk —t 3.l 6.4 —| | | —
RS X8 30 | L1|P 5o 8.7 5.4 5.4 —|  —
FABET RN fi P b X3 —hl 3.0t 4.8 | - - -
LR DRI 30 | L1 GO 8.4l 4.4 4.4 | —
FRAHEHT fARE £ X A —%35ﬁ5¢ -1 - - -




ST 495y i = X 138
i CET A4 . AR B A Pl 5
R I B B B S B =y i TSt v
% e = * = = # ®
N HAHERTRARE EFepS o K 30 L1$5J$86ﬁ4ﬁf4ﬁ - -
(3 PREERT T b Kk — | BEAR | PhEE k¥ kHE ke — —
AT {L A X
1 BRI —#l 4. 600 6.9  — — — —
2 EELIAA DX
(1) FZE 7B AR RN 30 | LL|h oA 138276 2.7 | —
(2) RSO HE 30 | L1|Pesh 12 2.7 2.7 | —
ARKT Eee — | BRER | bhME b HeH beEy | —
AT HF i A KR s o6.4 | | | —
ERUADKE
12Fﬁ477%ﬁ&WHﬁf£%%ﬁ 30 | L1|H 6.3 9.7 5. 58 5.5 | —
MO
2 ERCEAA OISR 30 | 1.1|4 5.5 8.8 .5 5.5  — —
AHEET B P P L X fgk —t 3.5 58— —| | —
RIS K
1 [EE4 7 7ERB 30 | L1|h 5.9 8.8% 5.7l 5.7 | —
2 LFELh o g 30 L1$52$83L57M57 - -
ANHEET PN F2% P XA —#t 3.5t 58— —| - —
RRRLIA DK Ig
1?Eﬁ477%ﬁ&0ﬁﬁ%£%%ﬁ 30 | L1|# 5.9 8.8 4.8 4.8 | —
A
2 FECLISh o 30 | L[ 5.2 8.2 4.80 4.8 —| —
ARHEHT AL £ P L U —fti 3.8 6,20  —| —| —| -
ERLEAA D X I
1 EE4 775 30 | L1|h 6.4 . THE 5o 5.2 | —
2 LELIS o i, 30 | 1.1|F 5.5 8.8 5.2 5.2 | —
AHERT A2 fi P b X3 —l 3.5 6.0 —| - - —
LFREIA D K i
1 RISy For, ObEOR 30 Llﬁmﬁﬁmﬁ beve e - —




ST 495y i = X 14E
i CET A4 . AR B A Pl 5
R I B B B S B =y i TSt v
VE AHEHT AR 2 7\5&4 7 7 SRR UURE R AR 30% 1. 1%43 5.543 9, {71‘@ 5.{;’@ 5% [
B
3 ELU OIS 30 | L1|F 5 2F s T@ .5l 5.5  — —
3 oo Uy R ket — | BEAR | bhME phiE tti’ér e I
== T ik — | BEHR | fb¥E bk¥E ¥R ERME — -
TR LR (K
1 RO —ft 666 1] - — - -
2 RS ORER 30 | Lol|fogh 18 o1 - —
EHIETE A ok R A —fill 3.8t 6.2f - —-| - -
RIS D K S5
1 EE3 7 25w 30 | LO|f 6.3 8.8k 6,06 6.0 — @ —
2 RERLSOHI 30 | L.2|% 5 3F 8. 64 6. 0[: 6.0 —| —
GRS FE i X 3 —t 3. e 6.2 —| - - -
LEREA o Kk
1 FEHHEEATTRRIR 30 | L[ o6 1 0. THE b4 5.4 —|  —
2 EREELS O 30 | 1.1|# 5.1 8.8% 5. 4L: 5.4 — —
ERIETE Fr 1 X0 —ht .80t 6.1 | —|  —|  —
ERRLISI O XI5
1 EE3 725K, EE47 758K [30 | L1|P 6 1 8.8 6.6l 5.6/ —| —
[QEU:3: PN I 7 Sl
2 _ERCEA DR 30 | 1.1|% 5.4 8. (Tﬁﬁ 5. ET@Q 5. — -
Ko ZET AT L R — | BGER | PLUE LLWE LR LY — -
A AR Xk
1 B —Eos.oi 12 - - - —
2 LELU X 30 | L1 1o 190 108E 100 | —
K HET [k A — | B | LM tl:@r tl:&fﬁttfé - -
M RS K —|H 7O 1o 4.4t 44— —
L) £ — | BRER | LhME bh¥E pede beny | -
K| BEET Eaeioy — | BRER | Lhif| b i bkl | -




ST 495y i = X 165
XATF 4 < A B S
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
K| #JUETZ0 £ P DU —ft 6 9.7 | |~ —
LA D KI5 30 | L1|foo.sff 17 b o1y — —
BT H 2 P Xt —ffd 6. 28 10 — — — —
RIS K
1?\353 7 2 SRR URRERE/ A (30 | L1|F 1o 20 11 11 | —
O
2 _ERELIAF DR 30 | L2 o.gd 17 1t 11 — —




